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Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt
of this question paper.

2. Answer any 5 questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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l.  Defi i
ne the production possibility curve. Explain the
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(a) Define the law of supply. What are maj
. . 0
influencing factors of supply? 3

(b) What wil] pe the effect on market equilibrium if
supply curve shifts downwards? (10,5)
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3. (a) What is elasticity of demand? Prove that price
elasticity of demand varies from zero to infinity

on a straight-line demand curve.

(b) For the market demand schedule given below,
calculate elasticity of demand if the price falls

from Rs. 20 per unit to Rs. 19 per unit. (10,5)
Price/unit 22 21 20 19 18
Quantity 140 180 | 200 240 | 280
demand
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4. Decompose the price effect in substitution effect and
income effect for a giffen good. Also explain why
law of demand is not applicable for these goods.
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(a)-What are isoquants? Show its properties.

(b) How does a producer choose an optimal input
combination to maximize output subject to a given
cost? (7,8)
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Distinguish between perfect competition and monopoly
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(a) Why average cost curves are U shaped? If Explain with e
marginal cost is rising, does average cost is also q‘ﬁ AR AR m TR FaEA A AW WL
increasing? Why if yes and Why not? Explain with o A 2 I 7 I
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(b) Calculate TFC, TVC, AFC, AVC, AC and MC ;
from the following table. o e ik o any two of the following :
in
b i T 1 3 i 4 : (a) Long run industry supply curve of a decreasing
Total Cost | 10 | 20 | 28 34 | 38 | 42 cost industry
(TC) J
(6.9) (b) Accounting cost and economic cost
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(¢) Binding and non-binding price floor
(d) Price discrimination (7.5,7.5)
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